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ECONOMY - 24™ March 2024

1) Consider the following statements with regard to the Centre's Off
Budget Borrowings:

1. These represent liabilities for the Central Government.

2. The Central government is responsible for repaying both the
principal and interest.

3. There were no projections for off-budget borrowings in

2022-23.

How many of the above statements is/are correct?
a) Only one

b) Only two
c) All three
d) None

2) With reference to the Marginal Standing Facility (MSF) and
Statutory Liquidity Ratio (SLR), consider the following statements:
1. MSF denotes the interest rate at which scheduled banks can

borrow funds overnight from the RBI against government
securities.

2. SLR is utilised as a mechanism to manage liquidity within
the domestic market by influencing bank credit.

3. The MSF rate is always set higher than the repo rate.

How many of the above given statements is/are correct?

a) Only one
b) Only two
c) All three
d) None

3) Regarding the recently introduced 'Krishi Megh,' consider the
following statements:

1. It 1s the data recovery center positioned within the premises

of  the National Research

Management (NAARM) in Hyderabad.
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1) g & 3AT% ool 3R (Off Budget Borrowings) & H&el
Freaferfaa st w foem i
1. 3 Fg TR o oI SeTie 1 wfaffee st 2
2. % TR Y S SIS a1 g o forg Seearft
B 2
3. 2022-23 H HATh-SoIEFURNHT hig ST el Tl

TR | © fohe e Tt 2722
a) Feel Teh
b) saAal
c) Tftd=
d) igel

2) Hiwie Tomft giem (MSE) 1R e aeerdt 3Tdd (SLR)
% gewt 1, frferRaa semt o fomem =t
|. THEETE 3G TSl & i SRMT & 8 T g
ek BEERRT TTferlT o S1act STREATSTS | T o
ST A Hehdl &
2. THUHASR T IWANT sk K0T i TG b TR
TSR § AT T TS o o oIT Ush o o &7 H
IERIE I
3. UHUEUE &L g T & & Aferk i i St /1
YR U U et 8§ | fore Tt €727
a) FHe Teh
b) Haear
c) Gt d
d) g

3) BT & # [ R T FY W (Krishi Megh)' & @4 #,
frfaRad oAt w fomm =
1. I8 SSUSTE | TSR Y STTEEM Jefe 3ThTaT
(NAARM) o 9TeerR o feera gt faredl det 2
2. T TAE U Y Ioof F1eq1 ai@is=T (NAHEP)
o ot o w0 1 Y Tora 7 2, Foret s eeehme 31

2. This endeavor has been initiated as part of the National g S 39 ¥ 99 T ST R
Agricultural Higher Education Project (NAHEP), which ) )
. . . IUUH | | HI AT Ho T /22
receives funding from both the Indian government and the
e 1
World Bank. 2)
b) had 2
Which of the above given statement is/are correct? c) 1 SR 2 3T
a) 1only
KUMAR’S IAS

Contact Number: +91-7078888888, Mail I’d: kumariasacademy@gmail.com




IAS

KUMAR'’S IAS

PCS

b) 2only
¢) Both1and2
d) Neither 1 nor2

4) Which of the following statements related to the 'Consolidated
Sinking Fund (CSF) is/are correct?
1. The fund is held by the RBI.

2. The fund is owned by State Governments.

3. This fund serves as a cushion for settling liabilities.

Select the correct answer by using the code below:
a) 1 only

b) 1and3 only
¢) 2and3 only
d) 1,2and3

5) If inflation operates as a variant of taxation within the economy, if
so, how can this taxation be characterized?
a) Progressive

b) Proportional
¢) Regressive

d) None of the above

6) In economics, ‘opportunity cost’ plays a huge role in determining a
business’s capital structure, in this context .what does.the term
opportunity cost signify?
a) The cost that is incurred,while'echoosing an option.
b) The value of the next best alternative that is forgone when a
decisionds made.
¢) Any potential loss avoided by not choosing a particular
option.

d) None of the above

7) Consider the following events:

1. Climate change

2. Russia-Ukraine war

3. BREXIT

4. Disruptions in global supply chains after Covid-19 pandemic
5. Drastic decline in global FDI flows in 2021

d) Jar1mIH2

4) Harfereds ffdT % (Consolidated Sinking Fund -CSF) &
Geifera fFrforfad o & 6 @1 e Tt 2727
1. 98 he HATSTTE o IT8 L&l 2
2. 3O HE H W@ TF TLhRI o T4 Bl
3. ¥E he eHeria fuerieh iy Ush Herl/ 3 % &9
o S LT 2

! fow 7T e 1 ITANT Lok Tt I
a) Fae 1
b) e 1 3R 3
) e 2 3 3
d) 1,23R3

5) A AEHIT TefEeT o Wi FTUH % TF TR o &9 H
R &, AT, O 39 U sl Ha Ffia foma smgerar 22
a) UGN (Progressive)
b) W@WF&IEF (Proportional)
c) et (Regressive)
d) U HE ot 7

6) ST H, 'SR AT (opportunity cost)' forelt e it
STt ETET i i e § O e ffirh T €, s Eed o
TG AT I158 T STl 82
a) I AT S forelt forhed il Iad v T ol STt
2
b) T T forehed T AT & ST oIS forehed I
W Big e ST )
c) forelt fomiw fohew &t 7 = @ forelt oft wvifera
THET & ST ST HehelT 21

d) AR of 7

7) Frefafaa et w famem
1. Sfarg aiEa
2. ®ELHA IS
3. ShsE (Brexit)
4. =Ifre-19 WM % e Sfaeh Sl seerst §
Y
5. 2021 % 3f4res FDI yare § i fiae
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Which of the above events shows deglobalisation trends around the
world?
a) 1,2 and4 only

b) 1,2 and 3 only
c¢) 2,3 and4 only
d 1,2,3,4and5

8) ‘Barbell strategy’ which is mentioned in the economic survey is
related to which of the following?

a) Itis an industrial policy for subsidising export industries and
promoting import-substitution.

b) It is an investing strategy by investing in both high-risk and
low-risk assets.

¢) Itis a marketing strategy where a company focuses solely on
their desired public image.

d) It is an economic policy position favouring government

intervention in the market process.

9) Consider the following statements:

1. It fails to consider income inequality.

2. It neglects technological progress.

3. It leaves out non-market activities.

4. Tt overlooks the external impacts caused by economic

activities.

How many of the above are<the shortcomings of employing Gross
Domestic Product as a measure.for the.overall welfare of a nation's
population?

a) Only one

b) Only two

c) Only three

dy All four

10) An individual who has exited their current employment and is
actively seekingw”a new job 1is experiencing what type of
unemployment?

a) Structural

b) Cyclical

¢) Frictional

d) They would not be categorised as unemployed

SWIE H O i @ Tt fog s) o fodefieor (deglobalisation)
i vt gt 82

a)
b)
c)
d)

Fad 1,2 34
Fael 1, 2 3R 3
Faet 2, 3 3T 4
1,2,3,4 315

8) a1ffer waeor o Sfecifiad wiee wHifa (Barbell strategy)'
Frfafaa 0 o frae gefea 7

a)

I8 faria S o gfeet 33 3T STraTa-ufaema
1 FQIET 3 o fau ueh st Hifa R

b) FgS=a-SRaA SR S guftEt o famr
Teh ek o Wi R

c) IE Ueh HIhieT Wil & STl Teh ol ot e |
ST SAifesd HeSTeh el T L Shisd id] 2l

d) IE TSI TTshaT H Tk EEAelT o1 UaT o aTelt Teh
iR fifa Rufa )

9) Frfafad semt X fomm i

1. I8 A FEHHET I fomm o § fashet a2l

2. TG et YT hT SUET ST 2

3. I8 WA fdfafer o Sig 2ar 8l

4. g 3ok iRt o ST e aTet STer JTaE

I AT 2

Torelt Trg o6l ST o FHI FHeAToT o I o &9 H Hehed ST
IS T TSI L | STUH H & feheT hierar 82

a)
b)
c)
d)

A T
Fadar
Fad d
aft 9

10) Ush =4k ST 30T SddT TSR BT T & 3 afsra &9
T T YSHTR T qAT L T&T §, I8 fohe TR T sRISTRT
IS LT 2

a)

HEEHTHS

b) kT (Cyclical)
c) W(Frictional)
d) 38 SRISITR ST Syt § & T St
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11) The World Bank has introduced the concept of 'Learning Poverty,'
which is defined as:

a) The percentage of individuals aged 18 and above who lack
the ability to read and comprehend a basic text.

b) The percentage of children aged 8 and above who are not
enrolled in any form of school education.

¢) The percentage of 10-year-old children who are not able to
read and comprehend a basic text.

d) The percentage of 12-year-old children who are unable to

read and write a simple text.

12) Which of the following factors relies on the ‘QUOTA’ allocated
by the IMF to its member nations?

1. The financial resources that the member country is obligated
to contribute to the IMF.

2. Voting rights within the IMF.

3. Allocation of Special Drawing Rights (SDRs) to member
countries.

4. The borrowing capacity of a member nation.

Select the correct answer by using the code below:
a) 2only

b) 2 and3 only
c¢) 1and4only
d) All of the above

13) The wage rates of MGNREGA workers are revised annually based
on which index?

a) CPI-Agricultural Labourers
b) CPI-Rural Labourers

¢) [CPI-Rural

d) CPI-Combined

14) ‘Tax buoyancy’ within the economy is defined as:
1. The proportion of the percentage change in tax revenue

compared to the percentage change in GDP.
2. When tax revenue increases at a greater rate than the growth

of GDP, it demonstrates positive tax buoyancy.

11) o dep 7 arfermy fgfman (Learning Poverty)' ST 3Ta&RuT
U Al 7, 18 3 R ufteiye foma e 2:
a) 18 9 3 IUH ANIF 1Y % ATHAT HT e,

TS SfraTal ITe/ 2o ohi Ue STR FHE ohi &
3T 3T 2

b) 8 I HR I HAferh 1T F S=all 1 Hlawrad i

foreft oft rapTe <t et fRver & Aifera =2t 2

c) 103 o s T TTGRTA S (-ATaT 0TS i T T

e § wew e 2

d) 12 ¥ & Sl 1 IfAd S ST 973 U 37K

fore o sramel &)

12) fFr=fefad § &/ 9 91 $/% IMF g0 794 Te=T 330 i
ATEfed I (QUOTA)' T el shear 22

1.

4.

& 31 S fofta Tamert sl TSuATs | aee
FH & ferg g )
SATEUHTE o ok TagH 1 TSR]

e 9N Rl forey STreRr SAfereR (THEIR)
S|

Toreft Trewr Tee <t SuR i <t et

et o 7T e T I ek wet I T
a) a2
b) a2 I3
c) Fae 1 T 4
d) SWH aft

13) WG Stforehi i HTgll a2 i fohr Ferehioh oh SATETC O e
HNfer fopam ST 22

a) CPL-FY AN

b) CPI -ITHioT ASTgT

¢) CPI -umior

d) CPI-8g®

14) srferaEr & Hid ' IBTA (Tax buoyancy)' I T THR
afteTie fopam T 2

L.

ool BT 3cA1E § Hfawrd aiad sl qer J #
TS H Werd qiter st STl

ST L TSI Hehel BT 3cTe ol gl | STt ¥
ST &, T I€ HHIH FL ISTA hi G 2
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3. Tax buoyancy is calculated by dividing the percentage
change in tax revenue by the percentage change in base year
GDP.

Select the correct answer by using the code below:
a) 1 only

b) 1and2only
¢) 3and4only
d) 2and4 only

15) Consider the following statements regarding employment
elasticity:
1. It measures the percentage change in economic growth with
respect to per percentage increase in employment.
2. If economic growth is happening because of increased
utilisation of capacity, then employment elasticity may be

low.

Select the correct answer using the code given below
a) 1 only

b) 2only
¢) Bothl and 2
d) Neither 1 nor 2

16) Commission for Agricultural Costs and Prices (CACP) considers
which of the following factors when suggesting the Minimum Support
Price (MSP) for agricultural.crops?

1. Supply and demand dynamics

2. Price trends in both'domesticiand international markets

3. Terms.of trade between the agricultural and non-agricultural
sectors

4. Price balance between different crops

5., Production costs

6. " Potential impact of MSP on consumers of the product

Select the correct.answer by using the code below:
a) 1,2 and 3 only

b) 1,2,and 5 only
¢) 2,3, and 6 only
d) All of the above

3. L IBA I TUET L T § ITaTd giaa ahr
HYR a9 Fohel Bl 3c0E H Wfaerd aited &
forrfora ek <t STt 21

it T T TS T STANT ek T ST+
a) Fad 1
b) had | X2
) a3 34
d) Fae 2 4

15) TSR = (employment elasticity) % Hay 7 fefaRaa
1. FGUSHTR & wf Sfrerd aig o defer 7 a1fefer foemrer
H wifcrere afar s AT 2
2. 9 AT RS START oh SHIUT STTTefeh forehre &1 T
2, 1 TSP ier ohH & Fehel 21

1<l fAW T <Al BT ITANT ik Tl I I
a) %ad 1
b)Yy et 2
c) aFil 32
d) Jar1mIH2

16) TS AT ST T SR (CACP) FY HEAT 6 T =Zad
T e (MSP) 1 G&1e od @Ha - IRad # & ford ik
W o st 82

AT TR AT AT it

RS 3 SR SHT SIS oo &

HIY S T-H &t o i IR 6 31

fafsr= wae o site g dqar

IeqTET AT

3qTE o ITHTHIAT TR TATHYT T FHTTId THTe

it foT T TS T ITFNT ek HET I
a) el 1,2 33
b) had 1,2, AR5
¢) HAA2, 3,306
d) 3IWH aft

I

17) "31=05(8 (ANTARDRISHTI)" 3155, ST et & § o=l &
BT EAT 2, foredt waifera 22
a) W’ﬁﬁﬁw
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17) What does the term “ANTARDRISHTI”, which has been recently
featured in the news, pertain to?

a) Internal security
b) Underwater surveillance device
¢) Financial inclusion

d) Capital markets

18) Consider the following statements about 'Ways and Means
Advance (WMA)’:

1. It serves as a source of funding for the government's fiscal
deficit.

2. Itis a government security that can be traded.

3. It is a mechanism through which the Reserve Bank of India

(RBI) provides short-term funds to only central governments.

How many of the above statements are correct?
a) Only one
b) Only two
c) Only three
d) None

19) With reference to the payment banks, consider, the following
statements:
1. They have the authority to establish both demand and time
deposit accounts.
2. They are established as differentiated banks.
3. They have the option to serveas Business Correspondents for
other banks.
4. Their services and

encompass facilitating payments

remittances for migrant labourers and small businesses.

How many of the above statements is/are incorrect?
a). Only one
b) * Only two
¢) Onlythree
d) All four

20) The following sources are utilized by Non-Banking Financial
Companies (NBFCs) to obtain their funds:
1. Loans obtained from Banks

2. Bonds issued in the financial markets

b) gt & T FRET 39RO (Underwater

surveillance device)

DIRERIRECIENE)
d) 1qj.'\\_r[;farl'\?l'l'((Capital markets)

18) ST A (ways and means advances- WMA)' F AN
# ffaRad el ® fomm =

1.

Ig GLHR & TSI =1e & fou for diwor & &
% & H o T 2|

TT T LRI SR & STEeRT ST fofa ST Hehdt
H

g U WET o ® 5o e O vy fise S
(RBI). Facl 5 HLHRT Rl ATHIAS & T&H
T 2

IYh | Y Toha e Tt 82
a) Fa Teh
b) hadar
¢) HIA AN
d) rg T

19) T ST (payment banks) % gex 8, fmfefad wemt ©

forem
1. 3 UTE HAT ST AT STHT W1 ST ST i
1 ARFR R
2. o faufeq st (differentiated banks) F w7 °
TeTfue 2
3. 3ok UTH 3T Sohl o {oTU ST HATEETdT o & H
T A T farshed B
4. 3T HATSAT H Tarelt Hergll AR BT AT o ferg
WA S SIoT 7 o et 2
SUUH | G foha" SR TIq 878 2
a) FHa Teh
b) hadral
c) FHaet
d) 9]

20) TR-sifehT fordftr shufa=I (Teiumhet) gRT 3TU 9 T i o
fore frefarfaa |t st suT femam St @

L.

SRt 9 ITH SR0T

2. Torfiw sTeimi @ W fpu o E e
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3. Money market

4. External Commercial Borrowing (ECB)

Select the correct answer by using the code below:
a) 1,2and3

b) 1,3and4
¢) l,3and4
d) All of the above

21) Soil Health Cards (SHC) serves as printed report cards issued to
farmers at three-year intervals, indicating their soil's condition. Which
of the following outcomes can be expected from Soil Health Cards?

1. Heightened financial pressure on the government
2. Balanced utilisation of fertilisers
3. Improved land management

4. Reduction in the import bill

Select the correct answer by using the code below:
a) 1,2and3

b) 1,3and4
¢) 2,3and4
d) All of the above

22) Consider the provided statements concerning Agricultural
Produce Market Committees (APMCs) in India:

1. These committees are established asilegal bodies by state
governments.

2. The oversight< of trading encempasses both notified
agricultural products.and livestock items.

3. These « committees disallow " any intermediary or

commissioning agents from participating in the trade

between farmers and buyers.

How many of the above given statements is /are correct?
a) Only one

b) Onlytwo
c) All three
d) None

23) Which of the following statements accurately describes 'impact
bonds'?

1.  Government subscribes to the bonds.

3. HsT SIS (Money market)
4. ST ATk SO (SHe)

it T T TS T STANT ek T ST+
a) 1,233
b) 1,334
¢) 1,334
d) SWH aft

21) a1 Tl 1€ (SHC) foRuTT ol d1F HTeT oh STaie I S
TR ST aTet it FATE ahie. o &9 H i Sl 8, ST Sh! §aT
&t Rearfa =01 qwiar 81 7aT Wl &IE ¥ fHfafaad § 9 frd
aftoms <t SEfig St ST TRt 27

1. SR W foiter <sma oI T

2. JeEh T EfoTd T

3. offH SeEe H guR

4 AT forer o et
<=t T T TS T STANT ek HE I

Ay ly2 33

b) 1,334

c) 2,334

d) STOE auft

22) 9Rd | HY 39S IR Ut (APMCs) & Heife fau g
T T foremR L
1. 3 wiufaar TsT Gehil gRT g e o & |
Tonfu &t St 2
2. SR st T # stferfed i e iR aRrad
T ST A 2
3.y afufeat foret oft meereer a7 shiem Tsie ot fFamT
HI TlIER o s SATIR H 9T & hT STFATT T8
It 2
ITUh o 7T et  § fohae s wdt €727
a) Fa Th
b) FaAal
c) aftd=
d) g TE

23) f=faftad & @ S 91 e 'I9TE |1 (impact bonds)' 3T
Gt i LT 22
1. O oS GoIEhgs Shid! 2l
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2. The private sector finances the issuance of the bonds.
Repayment is contingent on pre-agreed outcomes.
4. This financial instrument is utilised to finance social and

developmental initiatives.

How many of the above statements is/are correct?
a) Only one
b) Only two
c) Only three
d) All four

24) The ‘Consumer Confidence Survey’ in India is conducted by
which of the following:

a) Reserve Bank of India
b) National Statistical Office (NSO)
c) Department of Consumer Affairs

d) NITI aayog

25) The concept of 'Inflation Premium' pertains to which of the
following?

a) The risk investors encounter due to elevated inflation.

b) Increased nominal returns received by ‘equity investors
resulting from inflation escalation.

c) Elevated returns sought by short-term bond investors due to
escalated inflation risk.

d) Higher returns that investors demand when investing in a

long-term security due to heightened inflation risk.

26) Consider the following statements:

1. The Gini Coefficient of India has shown a decreasing trend
over the past decade.

2., The Lorenz curve is a depiction of the nation's wealth
distribution.

3. The Gini Coefficient can be visually represented through the

Lorenz curve.

How many of the above given statements is / are correct?
a) Only one

b) Only two
¢) Only three

2. ST & wrie SIRY A o faraTeoT st 2

3. Wﬁﬁ-@ﬁw (pre-agreed outcomes)
T g )

4. 39 T | 1 ST AT SR foaehmares
TEAT Bl foraaIid s o fore fomam st 21

YU O fere e Tt 8287
a) Fa Teh
b) saAar
C) FHae
d) aft=m

24) ¥Xd T _SusreRT T aderor (Consumer Confidence
Suwey)’ﬁ'ﬂ%ﬁ@ﬁﬁﬁﬁw%mmﬁﬁmwgz

a) G EGIDRES CR=ED

b) T Tifteshl st (NSO)

C)- STHITHT AT formr

d) ife e

25) 'ﬂ?‘l@ﬁﬁ fiffem  (Inflation Premium) st 3Taemom
Frafearfaa o o foraw weifera 22
a) WG g3 HSTEHIN o HROT emmeRl w1 Sfaw
T AT T 2l
b) TSI H gfs o TRoTHERET 3iEel fawmeht g
T At /AT fed # gt
c) WS % e SHRaW & HRUT STHIAF TS
Frasment grr i M8 S e A
d) TEEHIT % Sed SHRaw o HROT G EehTicre Sfvfd
T frae Fd g9 e S=ur e i wim o 2

26) Frferfad shemT W foem
1. foser T awreh | 9 o it 1qonies o e <t
TSR
2. RS 956 o1 o o foraeer o e 2|
3. Ot TUTieh =t SIS oI5k o HIEAH © 90 &9 & awrar
ST EeRaT 2
I T T o 7 | fora wiet 8782
a) Fa Teh
b) FaAal
c) FHare
d vt d=
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d) All three

27) Which of the following actions are deemed as restrictive according
to the provisions of the 'Trade Related Investment Measures (TRIMS)'
Agreement under the World Trade Organisation (WTQO)?

1. Domestic employment

2. Mandating local content
3. Imposing export obligations

4. Requiring technology transfer

Select the correct answer by using the code below:
a) 1 only

b) 1,2 and 3 only
¢) 2,3 and4 only
d) All of the above

28) Consider the following statements about ‘Counter Cyclical Fiscal
Policy’:

1. The government employs counter-cyclical policy to temper
an overheating economy during periods of economic
expansion.

2. Within the framework of counter-cyclical policy, the
government boosts expenditures and decreases taxes when

the economy experiences a downturn.

Which of the above given statements is/are correct?
a) 1only

b) 2 only
¢) Both1and2
d) None of the above

29) Which of following statements regarding Regional Rural Banks
(RRBs),is /are correct?

27) farg SR @reT (WTO) & d8d 'R deiferd e surr
(TRIMS)' EHEid & TEEHI % AR FfaRad 3 & i €
1S gfdseTersh g1 STt 82

1. ‘aiqﬁw (Domestic employment)

2. T At sAfEr s

3. frata arlree g

4. SrenfiEhl sEdTaTor it SATavIsRar
! fow 7T e 1 ITANT Lok Tet Sk -

a) Fad 1

b) el 1,2 33

c) HIAA2, 3 34

d) “Suih Tt

28) e ShIT TSI et (Counter Cyclical Fiscal Policy)'
o o | fefaRad sweat ® e
1. TR e foar it erafer & <o srcafies au
Bt SAdgawe @ REka w0 & e sfashie
ifer ot R
2. gfa-=shi fifa & g & ofiar, S refeawer b
1 STV FAT & Al TR 2 Tl @ IR
Bricis

T feu T shert H @ I G/ Tt 2727
a) a1
b) a2
c) 13R2aH
d) FHIHE ot 7

29) &rffer Treior SRt (3TRTRE) o e § fefarfaa o @ &
T o TET B/E?

1. e $eht ST I fafme st Bl

2. AR & UTE YRS Sioh o WTTHed 1 Tod

1. "NABARD supervises and regulates them. 37fereR feemr 2
2. RRBshave the highest share of ownership from the sponsor 3. ‘T{Sl"T watear 3T (Capital Adequacy Ratio)
bank. THEE ST T A 7 81 2
3. Capital Adequacy Ratio norms do not apply to RRBs. 3T B § R o Tet 373
How many of the above statements is/are correct? a) EER U
a) Only one b) e
b) Only two c) aftd=
c) Allthree d) E}ﬁé T
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d) None

30) Consider the following statements with respect to Retail Direct
Scheme of Reserve Bank of India (RBI):

1. This scheme facilitates a person to directly open an account
with RBI for purchasing government securities.
2. Under this scheme access to primary issuance of government

securities will be given to the account holders.

Which of the above given statements is/are correct?
a) 1 only

b) 2 only
c¢) Both1and2
d) Neither 1 nor 2

31) Identify which of the following can be categorized as high-
powered money:

1. Currency and coins in the possession of the public

2. Deposits maintained by commercial banks with RBI
3. Deposits held by the Government of India with'RBI
4

Physical cash reserves held by commercial banks

Choose the accurate response using the given code:
a) 1 and 3only

b) 2 and4only
¢) 3and4only
d) 1,2,3and4

32) Regarding the/Union Budget, consider the following:
1. Revenue generated from the disinvestment of public sector

undertakings.
2¢ Earnings obtained fromrthe sale of spectrum.
3. » Financial assistance provided by foreign governments in the

form of grants-in-aid.

How many of the above options is/are included in Revenue Receipts?

30) TR fiotd S (RBI) it fieet See Thim (Retail Direct
Scheme)%mﬁﬁﬂﬁ?@ﬁmmﬁ?ﬁﬁ:
1. I8 AT forelt ATk i TR STafa i TiiE
foT wfTer SIS, o ©rer @t Wit sht e ot
H
2. 9 IISHT % T8 WIATdehi Sl Gk S &
srerfirer T ek ge TeH ol ST

S U T heHl H & I w1/ He a/e?
a) Fad 1
b) ad 2
¢) 132t
d) FaADIWRITIH2

31) Torfea =6 for Fmrfcriae i & for s==r-ifeh aeft 12T (high-
powered money)%mﬁmmmm%z
. 3T ST o 918§ 3T SR s
2. aififsaes Sl g HAWEHE F g T e
SRR
3. VT TR g STERATS o T8 ST iyt
4. STiUTTSTe Sl §RT T T Hifteh Tohdl R

faw Tu i< 1 ST e weTe TRt <
a) Fad | 33
b) a2 I 4
¢) a3 34
d) 1,2,33M4

32) e siele o Tay 1§ feferfad W foem i
1. TESI(eh & o SUSHAT oh ((-aST & ST Td|
2. TagH i farshl & a1
3. WERIAT STEM % 9§ fooxft el g e
ST STt et s

Sk H ¥ forae faehed Tse WIET (Revenue Receipts) H
RUIEC R

a) Only one a) EEC] U

b) Only two b) AN

c) All three ©) wft ?ﬁ:[

d) None d) Eﬁé gl
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33) Which of the following are the potential consequences of fiscal
slippage?

1. Arise in bond yield.

2. A decline in market interest rates.

3.  An upsurge in aggregate demand.

Select the correct answer by using the code below:

a) 1only

b) 1and3 only

¢) 2and3 only

d) All of the above

34) Consider the following statements concerning Goods and Services
Tax (GST):
1. It has resulted in tax harmonisation.

2. No GST is imposed throughout the supply chain for exports.

Choose the accurate response using the provided code:
a) 1only

b) 2 only
c¢) Both1and2
d) Neither 1 nor 2

35) Regarding India's budget, which of the following falls under Non-
debt Capital Receipts?

1. Repayments of loans extended to foreign governments.
2. Proceeds from the Strategic Disinvestment of Public Sector
Undertakings (PSUs).

3. Acquisition of funds throughithe issuance of Treasury Bills.

Select the correct answer by using the code below:
a) Lonly
b) 1 and2 only
¢) 2 and 3 only
d) 2only

36) Consider the given statements concerning the 'Net International
Investment Position (NIIP)":

1. It gauges the disparity between a country's foreign asset
holdings and the foreign ownership of assets within that

country at a specific juncture.

33) TSN fhaem (fiscal slippage) F Tl gfom
fFfafaa g 9 82

1. die dice | seradt

2. WIS 31 &A1 &4 § fiRrae

3. %o HITH 3BT

! fow 7T e 1 ITANT ek wel I I
a) Fae 1
b) el 1 33
¢) A2 33
d) 3IWIh Tt

34) 3] TS Yl oL (STTUeet) o e | e fetiad shei o fomm
i
1. 39 UROMHEEY & A (tax harmonisation)
TTT g3 B
2. fafe & fore wavt st sfer # i Sfowdt T2

TR ST 2

faQ 7T T ST Fleh Wk idfsha o
a) Fae 1
b) ad 2
¢) 132
d) Far1smId2

35) WA o sie o doiy W, FEfaRad § & S -0 g
TTfEET (Non-debt Capital Receipts) % 3Tdiid 3TdT 872
1. foraeft eeerr it faw ¢ 0T o qAvTT|
2. WIESI & o6 IUHHT (HTHY) o Wik fofareT
T T ST

3. SR foret STRY ek e T TR

it foT T TS T ITFNT ek HET I
a) a1
b) haet 1 3R 2
c) a2 3R 3
d) FHae2

36) K 34?‘1'{'??3?1 Framr feufa (Net International Investment
Position- NIIP)' %Wﬁmmmmﬁm{ﬁ
1. I e fafsre v o foreft Qo ot foraeft ufeufa
Bifce™ 3 30 a9 o iR giEdfa o foaeft
TaTfired o sfter STHTAT T STl HLdT 2|
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2. The influx of Foreign Direct Investment (FDI) into a nation
will have a negative impact on that country's NIIP condition.

3. It embodies the obligation associated with servicing both
debt and equity.

4. Enhancement in a nation's foreign exchange reserves will

enhance its NIIP status.

How many of the above statements are true regarding NIIP?
a) Only one

b) Only two
c) Only three
d) All four

37) In the context of disguised unemployment, which of the
subsequent statements is/are correct?

1. The marginal productivity of capital will be zero.

2. Labor productivity will be reduced.

Choose the appropriate response using the provided code:
a) 1 only

b) 2only
¢) Both1and?2
d) Neither 1 nor 2

38) Which countries are eligible to become members of BRICS Bank?
a) Members of United Nations

b) Any Country
¢) Any developing country
d) Members.of World Bank or IMF

39) Regarding Foreign Direct Investment (FDI) thresholds in India,
consider the following:
1. » Direct to Home (DTH) Services

2. Nidhi Companies
3. Miningand Exploration of Gold and Silver
4. Animal Husbandry and Horticulture

How many of the above sectors receive 100 percent FDI through
automatic route?

a) Only one sector
b) Only two sectors

c) Only three sectors

2. Tordlt 3w oy fareeft et (Twetems) & A @
39 <91 T NIIP fearfar o Tehmredsh wome o)

3. I 0T AR Sl ST B TwH § TS IR B
etk 2

4. forelt a1 o foaft a1 vier # gfg & Iwsht NIIP
fearfa & gfg gt

NIIP % €&t H 39U H ¥ foha oo der 22
a) Feel Teh
b) Hadar
C) FHae
d) Tft=ar

37) a1/ Tt g8 SsmY (disguised unemployment) % &a¥
7, frafarfaa & & 19 w/@ see aet 2727

1. ISt 2T Hiwia Searaehdt I 2l

2. 3T IHTEehdT Y &I ST

feQ TTq i T YT ek I Sfeifsham <+
a) Fae 1
b) a2
¢) 132
d) Jar1mIH2

38) frfafad & & i @ 37 fsro S o Temg s & T &2
a) TIH T & A
DEEIER
c) Eﬁé‘lﬁﬁﬁﬁmﬁﬁ%{ﬂ
d) forar S a1 ST F weE

39) R | Yerey foeeft fasr (FDI) € & wetyr 7, feferfaa
1. TR EW (@Te) e
2. fafer sufaar (Nidhi Companies)
3. N 3R =TE) T T 3R 31w
4. YU T ST

YRR B ¥ fora &1 § Ternterd qT & 100 STISTd THErSTS are
BT 87

a) FaeT Tk BT

b) haet &F TkT

c) FHaet i TeX
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d) All four sectors

40) Consider the given statements:
1. Minimum Export Price (MEP) denotes the threshold price

below which exports are restricted.

2. MEP is enforced to mitigate price escalation and avert
disturbances in domestic supply.

3. Minimum Import Price (MIP) signifies the minimum price
below which imports are not allowed.

4. MIP is introduced to restrain imports and safeguard domestic

producers.

How many of the above statements is/are correct?
a) Only one

b) Only two
¢) Only three
d) All four

41) Which of the following options is associated with the economic
concept of 'Reflation'?

1. Aiming to mitigate the impact of deflation
2. Implementing fiscal stimulus to enhance output

3. Employing monetary stimulus through interest rate reduction

Select the correct answer by using the code below:
a) 1and?2 only

b) 3 only
¢) Both2&3
d) All of the.above

42) With“reference to the crop production in India, consider the
following statements:

1. » India is the largest producer and consumer of pulses globally.

2. Both Niger (Ramtil) and Lentil (Masur) are cultivated as
Rabi creps:

3. Over the last three decades, the production of Niger has risen,

while the production of mustard (Sarso) has declined.

How many of the above statements is/are correct?
a) Only one
b) Only two
c) All three

d) Tft IR AFX

40) T T et W o= =i
1. =g fafd ge (MEP) 36 €1 g7 1 el &
e = forarta wiifer 21
2. MEP &I e (g ol A T 3 o A0 3
EECIEEIRER EA NS CRIRIEI
3. AW ST Hed (MIP) 38 =JAcH Hed i aR1idT
2 fSrersh =) ST <t STt et /)
4. I TR I ST O IATEeh! hT GLaT &
fore MIP S e 1 7 )
I § § fopeld e Tt B2
a) WQ‘%“
b) HaAal
©) et
d) &1 =’

41) Ffafga® @ &1 @1 faered "I qEehifT (Reflation)' 3t
3Tk ST & Teiferd 27
1. mﬁ(deﬂaﬁon)%waﬁmaﬂﬁaﬂﬁ&q
2. IUTEH SGH o [oTT TSThIs SicaTe AT AT
3. oA U H il o HTeT | Wifseh WedTe s
HET

it foT T TS T ITFNT ek HET I
a) FHad 1 32
b) HaA3
¢) 23MW3TH
d) STOE it

42) IR § e IcaTe o eyl |, fmferfad et w fomm &t
1. 9Rd 3f¥e T W ] 1 G99 FST 3dTEHh HN

ITHIHT B

2. Hrgs (Ramtil) 3R "L (Lentil -Masur) ST AT
el Tl FHe o ®9 H Y S 2

3. fU=d i qurehl §, ATESR T 3cUTE 9GT R, Sefh
et (mustard) % ScuTe U fiRrae o1Ts 2

I | § ford e |t 2/82

a) Fa Teh

b) hadr gl

c) aftdH
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d) None

43) Consider the given statements:

1. India ranks as the world's largest coal producer.
2. India stands as the second-largest global coal consumer.

3. India has transitioned into a net coal exporter.

How many of the above statements is /are correct?
a) Only one

b) Only two
c) All three
d) None

44) Consider the following statements:

1.  Economic endeavours of Indian residents in global waters.

2. Expenditure by foreign nationals on movie tickets in India.

3. Services provided by Indian embassies and consulates in
foreign countries.

4. Air India operations between two distinct countries.

How many of the above activities are part of India’s GDP?
a) 1and?2only

b) 2 and 3 only
c¢) 1,2and3 only
d) All of the above

45) What does the term "Seigniorage" refer to?
a) The income generated byithe Central Bank through the

creation.of money
b) The profit earned by the Central Bank from money creation
c) /The cost linked with the process of money creation
d) The stock of physical gold required for producing currency
bills

46) Consider the following statements:
1. A weaker rupee makes Indian exports more affordable for

foreign buyers, potentially boosting exports and improving

the trade balance.

d) T T

43) faw e et X formm =R
1. 9T fore o Fedl ¢ I STee o &9 3§ AN 2
2. VIR GO G STST A4k SR STHIH 2
3. W{I@'Wﬁ'ﬂm (net coal exporter) s 7T
2

ST | © TR e Tt 2722
a) FHad Teh
b) saAar
c) avftdH
d) zig Tl

44) faeferfad hemt o fomm
1. f¥es o 9 Wt Fanfem & il wam)
2. WA H Wt feskel o foawht AmieEnt g fomam T
=)
3ufercrt o A el A STfrSy gerErEr gr
Y& o ST STt |
4. B IA-AAT M o sfier T Sfean = deme)

390k O A ferat ifafarfert s st St = fewar 22
a) FHad 1 32
b) e 2 33
¢) Haer 1,233
d) SWH aft

45) o (Seigniorage)" 15€ T ATcqd T 27
a) T[T G o ATEAH ¥ hsT ok GRT 3cq 3T
b) hEI sk SR T e W Ao e
c) W1 S shl ATsRAT 8 S ANTT
d) Tz foret s o g sTrarsr sitfiren @t Wer

46) frfafaa oAt W famm =i
1. o &g foraett et o forg st Frafa
Aferep foprrdlt s €, "t w9 & frrid o
SETAT AT & ST AR Hfer § FER T 2
2. ¥ % e § e o 0T ST STfreh He &
ST 2, S Fow AT SR AT aeqel afed
HTATII SEGAT T AT oI ST 2

KUMAR’S TAS

Contact Number: +91-7078888888, Mail I’d: kumariasacademy@gmail.com




IAS

KUMAR'’S IAS

PCS

2. Imports become more expensive due to the depreciated
rupee, leading to higher costs for imported goods, including
raw materials and essential commodities.

3. If a country has foreign-denominated debt, a weaker rupee

can decrease the burden of repaying such debt.

How many of the above statements is /are correct regarding impact of
Rupee depreciation?
a) Only one

b) Only two
c) All three
d) None

47) Consider the following statements:

1. The RBI holds liability for all currency in circulation.
2. All currency in circulation contributes to the money supply.
3. Notes and coins are exclusively circulated in the economy via

the RBI.

How many of the above statements is/are correct?
a) Only one

b) Only two
c) All three
d) None

48) Which of following statements is/are correct regarding ‘Bharat
Bond ETF*?

1. Enhancing investor liquidity is oneof its goals.
2. It contributes to the expansion,of the corporate bond market.
3. Theseinstruments are not available for individual purchase.

4. Ttwill be listed and traded on a stock exchange.

Select the correct answer by using code below:
a) »l and 2 only

b) 2and 4 only
c) 1,2 and4.only
d) All of the above

49) With reference to the Sterilisation of an economy, consider the
following statements:

1. Central Banks execute it to safeguard the economy against

external disturbances.

3. e fopet 231 R foreeft T 2, AT AT %9 UH R
3T THM o A3 T FH TR 2

F@%W (Rupee depreciation) % TS o el | SUUh O
T foha o Tt E/87

a) FHad Th

b) Hadar

c) avftdH

d) T

47) Freteriad shemT W o
1. SAESATS SreiE H HisIg, T Harat o forg Serenit
(liability) 21
2. V= B HISE e R, TET Sfd # ANTeE et )
3. A N fyak 38w &7 @ RBI & Areaw @
Sreferare U gET ford STTd )
STIH | & fohe she Tt 2/22
a) *ad Th
b)y sheet &
c) i d
d) g e

48) ' §1~g 3T (Bharat Bond ETF) & dsir #f freferfiaa
T U I /A U T 280

1. froerent shi dtetdT SQMT S8k e § ¥ Ueh 2

2. T HIUNE oS ISR o fora® & JeH 2T 2

3. I TR AFHTA TS o AT Suetsy T 2

4. 39 I TaEES | gelieg, 3 HRIER R smam)

et fo 7T e T ITANT ek Tt I T
a) FHad 1 32
b) a2 I 4
¢) HaeT 1,234
d) 3SWH aft

49) ROATSSITA (Sterilisation) & dey H, Fefafad wemt ©
fom =L
1. e Sk SrefeTerEeT Sl oTel e § o= o fag
39 fopanfeaa =ta 2
2. A AR ARG (T T [ FA A
TeHHTA qliehT 2
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2. Open Market Operations (OMO) are the sole method to W%QWW‘&@@?W/@ e /82
accomplish it. a) Fae 1
b) a2
. . : ‘7 ¢
Which ofoth;t a‘:)ove given statements is/are correct? 0 1 2 ot
a n
) only d) TA 1AL
b) Only2
c¢) Both1and2
d) Neither 1 nor 2 S0) ™ frerfiare tl'{i TR L
1. ST SH-6 ASHT 8 SRR o
2. Y o forg fata swor
50) Consider the following: 3. S1E@ HN(Housing loans)
1. Overdraft facility from Pradhan Mantri Jan-Dhan Yojana 4. TR W'fqﬁ?ﬁw
2 EXpOI't credit for Agriculmre 5 )\T@—q 'Sl%ﬁ Wﬁgﬁrﬁm (W) a;m
. N
3. Housing loans 6. foraT shfse IS AISHT o ded T
4. Renewable energy projects . Cn .
» . - .| ST H ¥ foha T B Seni o STUfHeRaT &5 K0T o Siad A
5. Beneficiaries of the National Urban Livelihood Mission 5
NULM '
(NULMD ) 3T A
6. Loans under the Kisan Credit Card Scheme b) ST
How many of the above are covered under Priority Sector Lending of ¢) LECRIE]
Banks in India? d) =i 88

a)
b)
<)
d)

Only two
Only four
Only five
All six

51) HTeIST-eh foroT et (fieiee) o de #, Frfafaa e
X foem L

1. OTEIeH T 3ETd QAT ToreRoT =T T, himai

TEoR AT ST TSl ST FTHHT T FW FAT

51) With reference to the Public Distribution System (PDS), consider 2l
the following statements: 2. _‘f&f I aefior forerre form =t @ 1 @lie i
1. PDS aims to ensure equitable distribution, stabilize prices, HERUT 3T G T HTH HiAT T 2
and support poverty=alleviation programs. 3. UE WSROI AR Y AR i fRrlt o Raers Th
2. The Department of Agriculture and Rural Development is TerTeeh SuTer o 9 # 1 T 2|
tasked with overseeing the procurement and storage of food w&%ﬁqw%ﬁﬁﬁmﬁaﬁ%@v
grains. a) HIATH
3. It serves as a preventive measure against stockpiling and b) E TR
illicit market activitics. c) aftdia
How many of the.above given statements is/are correct? 9 ﬁéqﬁ
a) One only
b) Two only 52) T Trer Gat S, 2013 % wev |, frforfiad ot
¢) All three W femm L
d) None 1. za fafem 3 i & AfUER #1 ISt S
TIETT AR (justiciable right) 4T fg=m|
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52) With reference to the National Food Security Act, 2013, consider
the following statements:
1. The Act raised the status of the right to food to a justiciable

right.

2. The primary aim of the act is to eradicate hunger and attain
food security by 2030.

3. The price of the food grain revised in Union Budget of 2022,
wheat increased from Rs. 2 per kg to Rs. 5 per kg, rice from
Rs. 3 per kg to Rs. 6 per kg, and coarse grains from Rs. 1 per
kg to Rs. 2 per kg,

How many of the above given statements is/are correct?

a) One only
b) Two only
c) All three

d) None

53) With reference to the Logistical Management of Public
Distribution System (PDS), consider the following statements:
1. Center and states identify BPL households using NSSO and

Planning Commission data, and ration card allocation relies
on criteria such as landholding, clothing; food security, and
livelihood.

2. The central government maintains an emergency buffer
stock, overseen by Food Corporation of India (FCI).

3. Allocation for APL families depends on the availability of
food grains in the central pool and the past quantities taken

by states.

How many of the above given statements is/are correct?

a) One only
b) ‘Two only
¢). All three

d)" None

54) Consider the following statements:

1. Private investments in agriculture saw a sharp decline in the
aftermath of the Covid-19 pandemic.
2. The agriculture and allied sectors initially exhibited negative

growth in the fiscal year 2019-20 due to the impact of the

2. SATITEH 1 SrefHes 39 2030 qo @R e
I eI G STH AT 2

3. 2022 % HERT ST H @R ohl hiF, T 2 &R wfr
Toretome & sTeat 5 9 Ui feratiams, =maret 3 ¥
i feretium @ sTgaht 6 T4 UTd fehetiumy 3T 41
IS 1 T Ufq fretim @ st 2 ¥ ufa
Teretome wmfer )

IYUH feU T shet 9 fore it 2722

a) FHad Th

b) hadar

c) avftdH

d) ®IETE

53) Grdstten forawor Jumett (i) o SAffeies/ e JaeH &
¥ 1, Fmfafad et e =t
1..+ohg 3T TS THTHTESAT 3T AISHT SR % ST hT
SYINT ek vt g il Tg=e i &, 3
SATSTferehT S8 AHEST X it T R
2. g GTHR Ueh STUTAeRTA ST T27eh ST Tl 2,
freehl Tt S @ i (FCL) et Rl
3. udfiuet aRER o T ST 5 O H W= i
JUASYAT 3R AT 50 ot 718 foedt A w
AT R
ITUh o 7T el @ forae we €282
a) ﬁn‘cﬁf@ﬁ
b) A ar
c) aftdH
d) g

54) fr=ferfaa swemt w femm i
1. Hifee-19 TeMR & a8 &N #§ st fae & wit
UREEACIRIH
2. Y STHeTE &R Y | Hifee-19 o Fesh o T
o ShIOT foRAT a9 2019-20 H TohHIeH IR Yaria
T, TR 18 § I HehiTcHe Jfg, JarRId hil

T feU T shert H @ I "/ w2727
a) Fad 1
b) a2
¢) 132
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Covid-19 shock, but they subsequently rebounded to display

positive growth.

Which of the above given statements is/are correct?

a) 1 only

b) 2 only

c¢) Both1and2
d) Neither 1 nor 2

55) With reference to the Production of Food grains in India, consider
the following statements:
1. The Fourth Advance Estimates for 2021-22 illustrate an

ongoing year-on-year increase in the production of both food
grains and oilseeds.

2. Despite the reduction in the area cultivated with Kharif
paddy, the projected Kharif rice production for 2022-23
exceeds the average production over the preceding five years

(2016-17 to 2020-21).

Which of the above given statements is/are correct?
a) 1 only
b)
¢) Both1and?2
d) Neither 1 nor 2

2 only

56) With reference to the Minimum Support Price (MSP) in India,
consider the following statements:
1. The 2018-19 Union Budget introduced a significant measure

wherein Indian farmers would be ensured a Minimum
Support Price (MSP) that is at least one and a half times the
cost of production.

2., The Government rhas consistently raised the Minimum
Support Price (MSP) for all 22 Kharif, Rabi, and other
commercial crops.

3. In ‘pursuit of self-sufficiency in pulses and oilseeds
production the Government has set comparatively higher

Minimum Support Prices (MSPs) for these crops.

How many of the above given statements is/are correct?

a) One only
b) Two only
c) Allthree

d) Jar1mIH2

55) VA ¥ W= 3cTed & dey 1, ffafad wemt w fomm
FL:
1. 2021-22 % fou =fen AW SgaE @rE= 3R]
fereTe T o SeATe H HTCT-GL-8Te Jig, bl qRIidT
H
2. % YT shi Wil 6 &Ff § sl & ST, 2022-23
o o 7T e =i Scavet foset oi=r st
(2016-17 §:2020-21) % G IcIT& & AT B

I fou T el § @ B EE g R 2
a) Fae 1
b) HaA2
¢) 1323
d) Tar1IMITR2

56) G H =[aq xel 4o (MSP) o dav #, fefctiad shomt
T foram
1. 2018-19 ¥ 3 aIsfe 3 Toh Hecaqut 39T T forarm
TSR T ToreT ol =Iae Sl oot (TaEH)
T TR ST ST 3cTeH ST 1 H 8 0S¢
TAT R
2. TR I EY 22 THw, i R 3 anforfsaes weett
o ToTT = T qoo (THTET) TR SGHIT 2
3. qoed IR foeted Saured & SArerfdtar it @ier o
TR - 37 BEAT oh [T JTeHE & § I =JcH
Tuel g (wuadt) feifa for &)
ST 2T 71T et & & fora aelt €722
a) ﬁn‘cﬁf@ﬁ
b) A ar
c) aftdH
d) iRl

57) Sifae Td 9@&1@ et (Organic and Natural Farming) &
T 1 FAfiTRad et ot foem i
1. 9N S W W a9 981 9@ | Sifosh FRami
T ST T T Seeia 1T ST o |1 Tl R,
St o<t oAeret whRr &9 @ Sifasd odt &
I § 9T o T R
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d) None

57) With reference to the Organic and Natural Farming, consider the
following statements:

1. India stands out with the remarkable achievement of hosting
the largest number of organic farmers on a global scale,
boasting a substantial population actively participating in
organic farming endeavors.

2. Himachal Pradesh willingly adopted organic farming and
subsequently emerged as the world's inaugural fully organic
state.

3. The Mission Organic Value Chain Development for North
Eastern Region (MOVCDNER) promotes organic cultivation
of specialized crops within the North East Region by

leveraging Farmer Producer Organizations (FPOs).

How many of the above given statements is/are correct?
a) One only

b) Two only
c) All three
d) None

58) Consider the following statements with respect to the Agriculture
Infrastructure Fund (AIF) which is operational from 2020-21 to 2032-
33:

1. It provides backing for the development of infrastructure
related to pre-harvest management and community farming
assets.

2. It provides advantagesisuch as a.3% interest subvention and
support through credit guarantees.

3. The AIF scheme has the potential to partner with other State
or Central Government initiatives, demonstrating the
possibility_of substantial investments in the agriculture

sector.

How many of the above given statements is/are correct?

2. femmeret vew 3 W=a1 ¥ Siferes Wt bl 9T 3R
afre # forg ot qeett ot Stforeh Tsa seRt 3

3. I A & o foru e Sifoss oo e o
(MOVCDNER) feraT Scdesh EeAT (Thdiet)
AT ISTHL ST YA &1 o HIaL TR e ot ifereh
Wl I STQrar 2T 3l

YRR U U et 8 O fora Tt 8727

a) Feel Teh

b) hadar

c) Tftd=

d) g e

58) Y STTETTRIY (ALF) o Geier § fferfiad sert i foam
L ST,2020-21 § 2032233 T =] &
I I FES I3 YeieH SR AETte HiY afEufE &
Heifera et g % foem o foe wew yee
EZG)
2. TZBA3Y AT BT FN hiee MR o HTEAW & TRl
ST AT TS LT 2
3. AIF IISHT § 3177 TS I7 o5 GLehT hl U8e & a1y
TTSIGT 3L ShT STHAT &, ST 1Y & 8§ =i foiarer shr
TYTIHT T Taf3Td S 2
ST U 1T et & @ fora Tt 2722
a) FHa Teh
b) Al
c) Gt d
d) IS el

59) SIETY-EITE Wl FEfd a % fIw R ol AT W
fyefar o6t 0 0 T S TE At 22
a) TEE G T SR ¢ St &
b) I fREmT s T 3 Jehfedeh Gd Je HLaT &
¢) IE TFAMT T JEd STt IUSASEAT aTel &1 hl 3T
TATI T % foAT Trearfad ar @
d) I8 o fafaefiertor =i semEr aar 2

a) One only
b) Twoonly 60) ST T Telg, &1: TRIITEH, S 3R Wee ITe % Eee |
c) Allthree e et W e it
d) None
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59) How does a Climate-smart farming practice contribute to reducing
farmers' reliance on monsoons for water?

a) It increases the frequency of monsoons

b) It provides farmers with alternative sources of water

¢) Itencourages farmers to migrate to regions with better water
availability

d) It promotes crop diversification

60) Consider the following statements with respect to the Allied
Sectors: Animal Husbandry, Dairying, and Fisheries in India:

1. The livestock sector has witnessed a 7.9% Compound
Annual Growth Rate (CAGR) (constant prices) and its
contribution to the total agriculture Gross Value Added
(GVA) has risen.

2. The fisheries sector sustains an average annual growth of
about 7% and contributes around 6.7% to the total agriculture
GVA.

3. The substantial growth in allied sectors highlights-their
increasing importance in the overall agricultural Gross Value

Added.

How many of the above given statements is/are correct?

a) One only
b) Two only
c) All three

d) None

61) Consider the following, statements with respect to Agriculture
Subsidies:

1. Explicit input subsidies primarily target small and marginal
farmers to alleviate input cost challenges and boost
productivity through modern technology adoption.

2. "MSP_(Minimum Support Price) Subsidy, Fertilizer Subsidy,
Credit Subsidy, and Irrigation Subsidy constitute direct

subsidies.directly deposited into farmers' bank accounts.

Which of the above given statements is/are correct?
a) 1 only
b) 2 only
¢) Both1and2
d) Neither I nor 2

1. T & H 7.9% Fsdhs aTes drg & (CAGR)
(FRor et At 7 & ST Bt i Tohet qeT e
(STTeT) & geehT AT =7aT 2|

2. TR UTEH & RIS 7% ot oftad anfies afg sHmg
TEAT & 3T FHA FY ST H AT 6.7% HT ATEH
qar gl

3. Wag &Pl H AT Ifg JH HY gehel Hed auT
37k STgd TR ! IR el 2

I fIQ T ot | & fohe vt B/

a) FHad Teh

b) saAal

c) Tt dH

d) RS

61) i wfcaet % deer T fFEfafad Furt w fmm it

L. ¥I8 3792 |isESl (Explicit input subsidies) T&d
W $YE AT AT bl o A T AT
TEIfTehT 3TIT o HTETH © 3cATSehdT Shi SIQTaT o
o foru B it diwia Rl it afera st )

2. wHTEdt (=aT T o) afeudt, S afsudl,
hise afsuet o fms afsadt @i foramt & S
Tl § ST sl ST et JogeT gisael 2

T feu T shert H @ I G/ Tt 2727
a) a1
b) a2
c) 13R2aH
d) Far1smId2

62) THhIFd foRam TaT W (UFSP) & e ®, fmferfad semt
T fomm =L
1. UFSP U &y arftfefaeht d & ardsitan o7t
st st yonferat & sfw ety siatE=meear
! GEH FA Tl Toh WHSEU] Ut & &9 H
1 LT 2
2. UFSP @&t Yeraredt 3R foramt & fow smmg 8
YA T o oA dsfiertor hi STt <aT 2
3. UFSP ferami ol gamareht #aT foraeor i et ad 8¢
fafir=r FismmeTt 3 Farett & ff= 31 % eM-
Y& T FeTq ST 2

IO T3T T e | ¥ fohe w2t 8/2?
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62) With reference to the Unified Farmer Service Platform (UFSP),
consider the following statements:

1. UFSP acts as a cohesive system enabling seamless
interoperability among public and private IT systems in the
national agricultural ecosystem.

2. UFSP allows registration for both Service Providers and
services meant for farmers.

3. UFSP enables the exchange of data between different

and services, inclusive service

schemes guaranteeing

delivery to farmers.

How many of the above given statements is/are correct?

a) One only
b) Two only
c) All three

d) None

63) Consider the following pairs with respect to the methods of
irrigation:

1. Furrow irrigation: It involves trenches directing water
between rows, suitable for row and tree erops while avoiding
direct plant contact.

2. Sprinkler irrigation: It imitates rain by ‘spraying water,
suitable for uneven terrain, shallow:soils, and various crops
except paddy.

3. Border irrigation: It involves uncontrolled water spreading

and is suitable‘for pastures,due to its cost-effectiveness.

How many of the‘above given pairs is/are.correctly matched?

a) One only
b) Two only
¢) Allthree

d)" None

64) With reference to the Micro Irrigation Fund (MIF) for Irrigation,
consider the following statements:
1. Cabinet Committee on Economic Affairs (CCEA) approved

an initial corpus of Rs. 5,000 crores for a dedicated MIF
under Pradhan Mantri Fasal Bhima Yojana (PMFBY) in
NABARD.

a) °hdd Th
b) A ar
c) Tftd=
d) g e

63) T&=Ts o qlient & sty # FrrAfeTRad T o forem

1. Ei;_s’/ :ﬂFﬁﬁﬂ'l'sc(Furrow inigation):sﬁqﬁﬁ’ﬁ%
e it =Rt e & arett @rgat it 2t |,
ST YT o €Y T © sheld 8¢ U Th $i1 IS sl FEall
o 7T 3ogh 2t 2

2. Tirer fo=ng: J U 1 fSeswa e e i
T BIg farfir FEe o foTT 3w

3. i =g (Border irrigation): 3o AEPE S
THR MU § 37X 3T ATTA-THTaieTdT 3 T
FT AR % (AT 3T 2

Siies R T ST & & e oS w g B
a) FIA Th
b) @A ar
c) i d
d) =g e

64) Té=rs o o wew f=ms =i (MIF) o e ¥, fmfafed
AT I forem
1. TR ATt i Hfore afafa (Eeigy) J T &
T Tt e ST AT ((AUssaTs) & ded
Teh GfUd THATSUS & fIT 5,000 S T &
STfTe I SR HeR &
2. UHSETE H A& T geu s aiErss &
ATEH Y T 58 AT 2R i i fferq e
2
3. TSY AT Y& I TS GHEE-HETd SR Aol
TS o Areas | geH s el a1 foedr
ERIE

ITIH T T et # & fohe Te7d 278 2
a) Had Th
b) hadt
c) Gt d
d) gl
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2. The goal of MIF is to irrigate approximately one million
hectares of land through innovative micro irrigation projects.
3. Micro irrigation coverage expands through community-

driven and innovative projects initiated by the state.

How many of the above given statements is/are incorrect?

a) One only
b) Two only
c) All three

d) None

65) Consider the following statements:
1. Rice thrives in hot, humid conditions with 150-300 cm

rainfall and deep clayey or loamy soil, while wheat prospers
in cool, moist growth followed by dry, warm ripening
weather.

2. Rice prefers 20-25°C average temperature, while wheat's
ideal germination temperature is 26-37°C.

3. Rice serves as a key Kharif crop, whereas wheat<s mainly

cultivated during the rabi season in India.

How many of the above given statements is/are correct?

a) One only
b) Two only
c) All three

d) None

66) Consider the following,pairs with respect to the various cropping
systems are practieed in India:

1. Monocropping: It invelves cultivating a single crop
consistently in a field over successive seasons.

2+ Crop Rotation: Simultaneously growing two or more crops
in the same field.

3. 'Mixed Intercropping: The main crop is planted in rows, with

intercrop seeds, such as cover crops, inserted between them.

How many of the above given statements is/are incorrect?

65) Ffafad oAt @ fomm
1. =mEe 150-300 At ot ST medt faerit o e firgh
o TT T, ST qiRfoRtt & o 7, STt 18 3,
T et aRREfaRIT o SR 36k STe YT, TH qeh
Tt e H TeraT-BerdT ol
2. =TEA 20-25°C G ATHH TEHE FAT 8, TR 718
T 3ATERT ST AT 26-37°C Bl 2
3. 9O U TE Gk BEd & ®9 § w1 FA <,
STeIfeh ¥ H 11, T TWiel] He S el €T o S
EIRIGIRS
I9Uh o T el @ fha w227
a) FHIA Th
b) Al
c) Gt dN
d) el

66) 9T § Sefedd fofi=T s Jonfer & Heiyr § fefaRad
1. HIFIShITAT/ Tehel BH (Monocropping): o0 Th
T H AR HIEHT T & 6 ST M 2
2. H T (Crop Rotation):@ﬁ@ﬁﬁww
31 AT 3T AT FHer I
3. Tt Sfatwde (Mixed Intercropping): e %t
I Ufral T AT ST 8, ST Sie S HH &
ST, S I FEA, STt ST 2
I AT TC e | § foRa 71e7d 878 2
a) Had Th
b) FaAar
c) aftdH
d) =g e

67) Frferfaa swemt w femm =i
1. 9RA % 3 Af4eh IoTe Icaeeh o &9 H (M
ST &, SH for 912 o et Scare H ST Uk 1S
T AMTEH T 2
2. TET T SR 3cATEHAT hl ST TG o foeTt gerat

a) One only FHAT sl Tl IFEC ST FEAT o G =56 ° hl

b) Two only STt 21

c) All three 3. HeH TS AT e o T H STt Rt o e,

d) None IR ST T HATATT sh1 Y{HeRT T 2
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67) Consider the following statements:

1. India is acknowledged as the leading global pulses producer,
contributing to nearly a quarter of the overall worldwide
production.

2. Pulse crops are often cultivated in rotation with other crops
to maintain soil health and productivity.

3. In spite of its status as the largest pulse producer, India

occupies the role of the foremost pulse importer.

How many of the above given statements is/are correct?
a) One only

b) Two only
c) All three
d) None

68) With reference to Revised Domestic Natural Gas Pricing
Guidelines, consider the following statements:

1. The Guidelines aim to boost natural gas consumption,
contribute to emission reduction targets, and move towards
net-zero emissions.

2. It results in decreased costs for Piped'Natural Gas (PNG)
utilized in households and for Compressed Natural Gas

(CNG) employed in transportation.

Which of the above given statements is/are correct?

a) 1only

b) 2 only

¢) Both1and?2
d) Neitherd nor 2

69) Consider the following statements with respect to PM-KUSUM
(Pradhan Mantri Kisan Urja Suraksha Evam Uttham Mahabhiyan):
1. PM-KUSUM-was initiated by the Ministry of New and

Renewable Energy (MNRE) to achieve 30,000 MW solar
power capacity in rural India.

2. The scheme empowers farmers to install solar power systems
on their land, enabling them to generate and sell surplus solar

power to the grid for increased income.

S 19U TTQ o1 | ¥ fora |el o/8?
a) FHad Teh
b) hadar
c) aftdH
d) =g TE

68) TR =e] STehfoeh 118 qog Mo feemfaeet & dey 4,
Frferfaa et w fomm it
1. feenfden 1 3eT Tehideh 16 sht WU 1 TGET
ST, IcESt H FHT o &l H AMEM ST R J[S-
[ 3CHSH %l AL TG
2. 39 UNUTREEY B A SUENT S S et uEtS
STepferk e (ATt o aftaed # wae wdifea
Tehfereh 1 (HTTSHT) 36T AT  sheft 3178 2

S fow e et § @ 6 | welt 2727
a) Fae 1
b) had 2
¢) 13R23H
d) Jar1 T2

69) TTCH-FE (TLTHAT [oRaT 5Tl GLadT T ScoT HETHa)
Gerr 1 feferfad semt w fomm &t
1. T R & 30,000 WSS G Selt &0dT BTt
F F U T AR AR S WA
(THUASTIE) 5T FTUH - T 1T 61 TS of
2. € ASHT AT T 3o qfH W HR FSi Soredt
T o ot AR <t 7, fSre®r 9 st sge &
for e € St fire =t 3ca= & s s |
& BId 2
3. 9 AISHT I It S den oY forearied fomam I R,
g 3 o ol 9T @R G enfud e 9
SATCHTAT ITH T Tah|
IYUH feU U shert 8 9 fore @t €722
a) I Th
b) ad ar
c) oot =
d) T

70) TSI STTETTAT TSI (THITEHT) & Teof |, fmfeafaa
AT I o= i
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3. The scheme is extended to urban areas as well, enabling them
to achieve solar self-sufficiency by installing solar plants on

their buildings.

How many of the above given statements is/are correct?
a) One only

b) Two only
c) All three
d) None

70) With reference to the National Infrastructure Pipeline (NIP),
consider the following statements:

1. The NIP was initiated to bolster project preparedness and

allure investments in economic as well as social
infrastructure, vital for attaining the objective of evolving
into a $5 trillion economy by FY 2025.

2. NIP promotes aggressive bidding to hasten project execution:

3. NIP enhances India's long-term economic sustainability by
advocating balanced growth through carefully strategized
infrastructure projects.

4. NIP contributes to carbon emissions reduction by promoting

the advancement of renewable energy projects.

How many of the above given statements(is/are correct?

a) One only
b) Two only
c) Three only
d) All four

71) With reference to the Logistics Performance Index (LPI), consider
the following statements:
1., The index published by.the World Trade Organization with

the aim of aiding countries in identifying challenges and
opportunities for improving trade logistics.

2. India secured the 38th position out of 139 countries in the
rankings.

3. The report highlights that the value of operationalized PPP
projects at major ports in India nearly doubled between 2015

and the timeframe encompassing 2022-23.

How many of the above given statements is/are correct?

a) One only

1. TIATSH ol IEHATT GIASHT 2l dATiT i agH
qT 3fele SR |rTiorer et g | e it
TG T o fore Y 72 off, S o a9 2025 @
5 feferam Sior it srefeuemen 4 faspfia g9 & e
1 9TH L o 7T Ageaqut 2

2. wHeTRdr ufEeEr fses § oSt oW % fag
AT St (aggressive bidding) I ST gl
H

3. THSRH  wEgiqes. Wi, JHEE g
TSI % WA § qiord (o Sl et
ek W Shl SiEiehTicTeh ST et T sIgraT 2

4. TAATSHY TRl Ssit, giESHIeT Y wfa
T 3oL e, Jcarsi H shuT oI J JTET 2T 2

YR U U el § | fora T E/2?

a) FHa Th

b) saAar

c) e i

d) aft=m

71) T8E, WaRI Faohish /ATSIeCad WHHE sea9 (LPI) & Haw
H, Frefafad et w fomm
1. I8 SATIR e H FUR 6 [oTQ It 3T e 6t
UEHAH A H <RI I HERIAT A 6 I ¢ o
ST TS ZIT SHIIRT arehiah 2
2. WA 139 <911 oAt Lkt H 383t T gieret foram)
3. FOR 39 91 W Y St © o wRa § T
SETTRT O HATIeTd W ARSI 7 34 2015
3T 2022-23 i wH HAT 3 Sfer THTHT IET A
IR
I fow T et & § fora |t 8722
a) ﬁn‘cﬁf@ﬁ
b) Al
c) aftd=
d) 1

72) St |t foreRTer afEsHT (Jal Marg Vikas Project -JMVP)
% Geiy § fferfiaa sert W foem i
1. FEFaE 3 qEd o s g1 Y i T8 o
TERIAT % |TY, YRA HEEhR o6 RIS JAed o6
Jiaild R SFaeeiia Semmt IfesRor (IWAI)
ERUEIES IR
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b) Two only 2. 39 9IRS T 3T TSR o HFIHeT IR AT
c) All three et gftaeT Org @t NIGaSU 2, forar a%q\raa
d) None AT A 2|
L T3U T T H T A w272
72) Consider the following statements with respect to the Jal Marg a) A 1
Vikas Project (JMVP): b) Fae 2
1. The implementation is overseen by the Inland Waterways c) 1 T2 et
Authority of India (IWAI) within the Ministry of Shipping, d) Far] A2
Government of India, with financial support provided by the
World Bank. 73) ﬁﬁ%’%ﬁﬂ’ﬁﬂﬁﬂﬂ‘eﬁ
2. The project aimed to implement an environmentally friendly 1. Idhiee e TS ST 98 9 3
and cost-effective transportation mode, leading to reduced A EEALK g w\%’ ;z;jf—{ w}ﬁﬁmfﬁ gasﬁ )
domestic logistics costs. 33&2]?[%’, 39 fifies gaTe a@%wﬁww
. . . Bl
Whl(:)l of1 tl(l)(:l 1aybove given statements is/are correct? 9 - Ea-lé 343\@'[ . ‘e'ané srzen Ty ﬁﬁs
b) 2ouly ma@ﬁwﬁm‘aﬁm%t—ﬁmﬁtﬁw,
c) Both1land2 WWW@W%I
3. HIH-ITANT BATS ST Th BATs AST S AT

d) Neither 1 nor 2

73) Consider the following pairs:

1. Greenfield Airport: An airport that is developed from the
ground up on untouched land, usually situated away,from
established urban regions, is known as a greenfield airport.

2. Brownfield Airport: An airport pertains to a pre-existing
airport that undergees substantial » refurbishments,
expansions, or enhancements.

3. Joint-Use Airport:y, An airport thataccommodates both

civilian‘and military operations, with shared infrastructure

STt g SR GorensAl & @rer i SR d
G ST ol GHTANST T 2

e Fr e SIS i R e 2

a) ﬁn‘cﬁf@ﬁ
b) A ar
c) aftdH
d) g

74) (T G 9GH o6 AT o= 98 hl W o Tk AT 6
wq # frefaRad & @ for gfeenior st Seoia foram i 22

1. fequmehi & a1 geam
and facilities. 5 orae BT o
How many of the above givenpairs is/are correctly matched? 3. ﬂﬁ'ﬂ'ﬁf g % WEE H FH (Reduced
a) » One only maintenance of infrastructure)
b) Ry 4. god (R O qedien
¢) All three e fa T e T ST SRk T ST A
d) None a) ad 1,233
b) hadt 2, 3 AN 4
74) Which of the following approaches is/are mentioned as a part of ¢) a1, 3 3T 4
the ‘Kavach’ initiative's strategy for railway safety enhancement? d) LK 1,2 A4

1. Collaborations with stakeholders

2. Data-driven decision-making
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3. Reduced maintenance of infrastructure

4. Continuous monitoring and evaluation

Select the correct answer by using the code below:
a) 1,2 and3 only

b) 2,3 and 4 only
c¢) 1,3 and4 only
d) 1,2 and4 only

75) What improvement in recent Investment Information and Credit
Rating Agency (ICRA)'s outlook has been noted for the Indian
aviation industry?

a) Change from Negative to Stable
b) Change from Stable to Negative
¢) Change from Negative to Positive

d) No change in the outlook

76) Consider the following statements with respect to  the
Infrastructure Development:
1. In the budget for 2023-24, a substantial amount has been

assigned to promote infrastructure development, revealing a
remarkable threefold increase compared to.the allocation in
2019.

2. Inthe budget 2023-24, the Ministry of Railwayshas received
its highest-ever funding allocation, indicating a significant

increase compared toprevious budgets.

Which of the above given statements is/are cotrect?
a) 1only
b) 2only
c¢) Both1and?2
d) Neither 1 nor 2

77) Consider the following statements with respect to the Emergency
Credit Line Guarantee Scheme (ECLGS):
1. Itisapivotal component of the Atma Nirbhar Bharat package

introduced to support MSMEs and MUDRA borrowers.

2. The objectives of ECLGS include offering complete
guarantee coverage to lending institutions.

3. Entities with a turnover of up to Rs. 1000 crore and

outstanding loans of up to Rs. 500 crore are only eligible.

75) AR Tt ST o fore 2t &t 7 farst g o7k shiee
T TSTHT (ICRA) o GISaRI0T H T G o 79T 22

a) TeRNIHS (Negative) T T (Stable) H aftad=
b) &R & TehrIcHs o uftada
) THRIcHSE O HHRIcHS (Positive) T TRad=

d) gfEehior & 1S Sgard el

76) FATET el o forehre o EeY | frfoiad el T foem

L

1. 2023-24 Hase H, AT @i o fershe =i sere

T o fog wte ity STEfed Y e ©, st 2019
TS hT T H Jeca= A AT 1 qeTia ol
TNIE 2023-24 H, I TATAT ol 3 o T g
AT G ST FTHESAT 2, ST Ut sie Al g
T IeoieH 1 gfg gwifar 2|

FL feU T aheHT 9 I g/ gt 2722

a) FHad 1
b) Sad 2

1 32 2T

d) Far1smITd2

77) SUTAHRTAN Shiee A3 TR AT (Emergency Credit
Line Guarantee Scheme -ECLGS) & @&y ¥ ffetfaa shemi

T form
1. 9% THUHTRE ST ET SUTEhAlsH 1 aned H 6

for 37 fop ame sreneref vt Yot 1 ek et
U3 B

ECLGS % 321 # 3507 3 STt Seefi oAt qot Tt
et TS HHAT IS 2

1000 S T ek o AR I 50 FS T Th
% SIShTET SR STt ST € a2

IUUIh faU 1T hoHT § € fohae Teid 278 2

a) Fa Th
b) hadt
c) aftd=
d) s el

78) Wia Tk gerhish (HDI) % Hew | frmferfiad sheri ™

IEELECTS

KUMAR’S TAS

Contact Number: +91-7078888888, Mail I’d: kumariasacademy@gmail.com




IAS

KUMAR'’S IAS

PCS

How many of the above given statements is/are incorrect?

a) One only
b) Two only
c) All three

d) None

78) With reference to the Human Development Index, consider the
following statements:

1. Due to the impacts of the pandemic and conflicts, there was
a decline in the global Human Development Index (HDI),
with approximately 90% of countries experiencing decreased
HDI values in either 2020 or 2021.

2. In the 2021/2022 report, India held the 132nd HDI ranking
out of 191 countries, with its 2021 HDI value placing it

within the medium human development category.

Which of the above given statements is/are correct?
a) 1 only
b) 2 only
¢) Both1and?2
d) Neither 1 nor 2

79) Consider the following statements with respect to ‘e-Shram Portal’
and Dignity of Labor:

1. The government's commitment to enhancing labor's value
encompasses safeguarding workers' interests and advancing
the welfare of solely the unorganized sectors.

2. The e-Shram portal establishes the inaugural nationwide

database/ for workers in ‘the unorganized sector,

encompassing diverse categories like migrant laborers,
construction workers, gig workers, and more.
3. Predominantly, from  the

registrations  originated

manufacturing sector, constituting 52.4% of the overall total.

How many of the above given statements is/are correct?

1. MRl 3T HONl & YT & R0l A4 AT
fora e (TaEieTs) § frrae o1, e
90% =TT 2020 AT 2021 H TASIATE Headi # HHT
EQCERCRERI

2. 2021/2022 foad #, 9ra 7 191 <90 § & 1324t
TEEIATS (kT BT T, 38 2021 TSI Hed
T 38 qeIq g forehrE it 1 T

FC feU T sheHl H 9 I "/ gt 2720
a) Fad 1
b) a2
¢) 132
d) TdrlTde

79) 321 WeeT ST Afhish 1 AT & Herwr 7 FAfIRad swet
g ot
L& % & I SEH ol TLHR hl Tfdaragal § SHHeht
& fodl i e T I Fad rETied SE &
HTITIT =hl 3T STGHT AMHA 2l
2. 3-99 UideT SIS & 3 Affent & forw wegeardt
grftrept, T srfirent ofit o=y St fofimT Sifvrat =t
e foram T Rl
3. T &9 W, dSfeRr fafmir & @ gem, S 3
ToretTeRt 52.4% o
ITUh o 7T el @ forae we €282
a) ﬁn‘cﬁf@ﬁ
b) A ar
c) aftdH
d) g

80) AIMS HER fdd (NCS) ufrsmT fafaer T 3t i
Heieft HaTd Y& T AT Uoh Thishd W 7] HYMS i Afad
(NCS) ITEISHT =hT STefires e = 22

a) Rl TTE JTal b foie HeTaraT 8T T

a) One only b) gmaﬁﬁwﬁmaﬁwém
b) Two only ¢) SUSTIR SAHAT T Y[k TTE HaTd FaT T
¢) All three d) iR =Te ATt 3T FRTeT o st 37T Sl uTeAT
d) None
81) HTIHH AR TS TR AT (AB PM-JAY)
garer o fferfaa swemt w fomm &t
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80) National Career Service (NCS) project is an integrated platform
offering diverse employment and career-related services. What is the
primary goal of the National Career Service (NCS) project?

a) Providing financial assistance to jobseekers

b) Promoting entrepreneurship among the youth
¢) Offering free healthcare services to unemployed individuals

d) Bridging the gap between jobseekers and employers

81) Consider the following statements with respect to the Ayushman
Bharat Pradhan Mantri — Jan Arogya Yojana (AB PM-JAY):
1. AB PM-JAY stands as the largest global health insurance

initiative, providing coverage of ¥5 lakh annually per person
for hospitalization necessitating secondary and tertiary care.
2. The scheme is applicable exclusively to BPL families

residing in rural regions.

Which of the above given statements is/are correct?
a) 1 only
b) 2only
c¢) Both1and2
d) Neither 1 nor 2

82) Consider the following statements with reference Pradhan Mantri
Mudra Yojana (PMMY):
1. The scheme's objective is to offer loans of up to ¥10 lakh to

support income-generating endeayors across manufacturing,
trading, services, and related.sectors.

2. Collateral is not mandatory,during the loan approval process.

3. The interest rate is determined by the lending institution, and
it is levied only on funds held overnight.

4. Currently, more than of the loans have been provided to

women entrepreneurs:

How many of the above -given statements is/are correct?

a) Oneonly
b) Two only
¢) Three only
d) All four

83) Consider the following statements:

1. AB PM-JAY Gel o2l If¥eh WL 19T U8 T,
St fecfrares SR qofieeh S@vTe i STawehar arel
AT | ol 81 3 forw wfar safh arerr =5 arg
T FHalST TS T &l

2. T AT ORIy &9 § UrHior &1 | T8 e s
iam o fofg @ 21

F feU T sheHl H @ i "/ agh e
a) Fae 1
b) a2
¢) 1323
d) Jar1 T2

82) ST HET ASHT (PMMY) o e # fmfarfiad somi w
formmaRt:
1. ISHT o1 e fafmior, s, darett R d@eita
& § S-S SATET T 99 T % T 210
ARG e o T shl USTehT LT 2
2. U STIHIEH oA o S weTfifen Sifamd 72t 21
3. ST ST SROT S oTedt WEAT gAY feifid it St R,
ﬁ?%aﬁamm(ovemight)@wmwm
STt 21
4, TAE | ged IRIH KT AfeAT AT T TS
IERIRIPIE
YR U U et 8§ fore @t €727
a) FHe Teh
b) A ar
c) EEREIE)
d) &+ft=r

83) FrferRaa et W fomm L
1. 9Rd H s Uk g9k § Aiehoig Seit § fHasr
AR ¢ T 2
2. E fomE mfteRwr (€#$T) 7 2029-30 T 800
TS T IR A T ST IR 8, 36 &HaT H
T-SHaTed U |l &1 ANTEH 500 THTETE 8 31fereh
H

T feU T shert H @ I "/ w2727
a) Fad 1
b) a2
¢) 132
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1. Investments in renewable energy have been consistently
increasing over the last decade in India.

2. Central Electricity Authority (CEA) Projected to surpass 800
GW by 2029-30, with non-fossil fuel sources contributing
over 500 GW within this capacity.

Which of the above given statements is/are correct?

a) 1only

b) 2 only

¢) Both1and?2
d) Neither 1 nor 2

84) With reference to the term financial inclusion, consider the
following statements:

1. Financial inclusion strives to offer financial products and
services that are both accessible and affordable to individuals
and businesses, irrespective of their financial status or scale:

2. Benefits of financial inclusion include an improved quality
of life through the facilitation of daily living, financial
planning, risk mitigation, and investment opportunities.

3. Financial inclusion takes into account various dimensions of
inclusivity, including age, gender, Trace, geographical

location, disability, and socioeconomic standing.

How many of the above given statements is/are correct?

a) One only
b) Two only
c) All three

d) None

85) How does the Aadhaar component of the JAM Trinity contribute
to its effectiveness?

a)». Through enabling biometric identification of disadvantaged
citizens

b) By creating direct employment opportunities for the
unemployed

¢) Through offering financial incentives to beneficiaries

d) All of the above

86) Build Operate Transfer (BOT) is often in news with respect to this
consider the following statements;

d) Jar1mIH2

84) foar gumayE (financial inclusion) ITeq F ey 1,
Frferfaa et w fomm it
1. foxfler vmmeee @ fodia Scamel o Tared i
USTRIT L T TATE AT & ST ARt 3T sadmat
o 1T g R ForpRIdt &A1 &1, =18 Ieh! fortar
feufa o = o o &
2. forftr wmeRM & <l # e Sftaw st gl
o et Sifaw = 3R oS & 3@ &
HTEAH H ST ohl sigaL Ui T e g
3. fosfta gumaym 3w, fofmy e, simifos fefa,
forapeimar 3 TSt snislens feufa afea wumeem
& Tarfvreg Tt it s o T R
YA (98 T T 8 § TR agt 2/27
a) Fa Teh
b) hadar
¢) aftdH
d) rg T

85) JAM Tef3dt &1 3119 ook SHeh! TTasfictdr § e ane
ST e?
a) eI TATRERT Y STAE{dH TE=H I & HH F
reT |
b) STSTTRI o ToTT Hier TSR 3 T8 4eT Fieh
c) TTifE ot foreitT TieaTe Y eh
d) SWH aft

86) feree ATNE Ziawt (Sfe1el) STeR Tl § T&dT &, 39 Jael
7 feferiad semt w foem =
1. I8 U vefad qiEieHT foawor gfenior @ e
OH T W gHAE @ IR wrESTe- st
qrftert (At Semt & Sy foham ST 2
2. WERI & aREET § e oy, afEed s
Y STerd sh Tk Heca Ul fedll oidl €, 36 TR
TISiT &of shi 5k siTer & b ohidl 2|
3. S TRl o TRUTHERY HATERAF AR ol
1 fomfor 2 wehdT 2 ST HehR W deshre forfir 9w
T e & TTY-TTY WS f&d sh TalT LT 2

IO T3T T e | ¥ fohe w2t 8/2?
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1. Itisaprevalent project delivery approach extensively utilized
in infrastructure and public-private partnership (PPP)
ventures.

2. The Government sector takes on a significant share of the
financial, operational, and performance risks associated with
the project, thus releasing the private sector from its burdens.

3. BOT initiatives can result in the creation of essential
infrastructure that serves the public interest, all while

avoiding an immediate financial load on the government.

How many of the above given statements is/are correct?

a) One only
b) Two only
c) All three

d) None

87) Consider the following statements with respect to the One Nation
One Ration Card (ONORC) scheme:

1. Recently Assam's adoption of the One Nation One Ration
Card (ONORC) makes it achieving full nationwide coverage
for portable food security.

2. It allows beneficiaries to purchase subsidized food grains
from fair price shops in the destination city, regatrdless of
their place of origin.

3. To avail the scheme's benefits, cardholders need to apply for

a new ration card in their current residing state.

How many of the above‘given statements is/are correct?

a) One only
b) Two only
c) All'three

d), None

88) With reference to the Trends in broad employment status, consider
the following statements:

1. In terms of employment categories, a decrease was observed
in the number of self-employed individuals, while the
percentage of workers with regular wage/salaried positions

increased in 2020-21 compared to 2019-20.

a) °hdd Th
b) A ar
c) Tftd=
d) g e

87) I 3T, I TYH 1€ (ONORC) ST o Haiyy 1§ e ferfaa
FHAT W o
1. B & O 399 g0 a9 A o IWH FHE
(SNTAHATARE) SO & sl T g &
forw ot arsgeeTeft shetst ST 21 %@ 2
2. I AT T Sk gt TR ware foR fom,
Tqed T H Ifer AT shi R U HioHST dre
Qe GRIEA i SATHT T 2
3. AISHT R I3 3 T, TSR ohl ST TAHT
Frama s BT 19 e % fT 3tEe S g
JYLh feU e st 8 @ fore @t €727
a) Fad Tk
b) gl
c) &t
d) g T

88) =Uh TR 1 fearfa (broad employment status) T w3
o e H, FrfeTiia et ot forem
1. USTIR 2O} o e H, T-OSHTR kel st St
¥ T <t 1T, Sfefeh 2019-20 3T T H 2020-21
o fafid Sq/aae aret &ifieht =1 gfaera ¢ mm
2. 2019-20 FHITATH 2020-21 H farfwior &0 # Afear
AT % ST H Ieeha 1 Irs B3|

T feU T shert H @ I G/ Tt 2727
a) Fad 1
b) a2
¢) 132
d) Jar1mIH2

89) I[A-SATHTNG ST (ZBB) TR THURE ST o st 3
T g FfaTfad ot W fEm
1. -SRI ST 51e Tfsham sl 3 & Lt
?, Nod ys @ & forw siferey it sravaesan
B 8, SR TR TS g aofe & Y& At @
3N ohftreh &9 U gHEISA Bl 2)
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2. There was a noteworthy rise in the proportion of female
workers in the manufacturing sector in 2020-21 compared to

2019-20.

Which of the above given statements is/are correct?
a) 1 only
b) 2only
c¢) Both1and2
d) Neither 1 nor 2

89) Consider the following statements detailing the differences
between Zero-Based Budgeting (ZBB) and traditional budgeting:
1. Zero-Based Budgeting initiates the budgeting process from

zero, necessitating justification for each expense, while
Traditional Budgeting begins with the prior budget and
adjusts incrementally.

2. ZBB prioritizes efficient resource allocation through
identifying essential expenses, promoting cost control, while
Traditional budgeting may result in inefficiencies by
maintaining previous allocations without thorough serutiny.

3. ZBB lesser adaptability by evaluating all expenses from
scratch for changing circumstances,  while Traditional
budgeting may provide greater adaptability due to reliance on
historical data.

4. ZBB can be quicker through adjustments to existing budget

figures, whereas _Traditional ' budgeting .demands a
comprehensive, <time-consuming ‘process with expense
justifications.

How many of the above given statements is/are correct?

a) One only
b), Two only
¢).. Three only
d) All four

90) With reference to the Special Economic Zones (SEZs), consider

the following statements:
1. A panel chaired by Mr. Baba Kalyani was formed to examine
India's current Special Economic Zones (SEZs) and

formulate a strategic policy framework.

2. ZBB 1% Gl ol UgT Floh, AT (42101 st
SIGTA T FRIC EHTEH 3T ohi ST et o 2,
Sefeh URUfEs IS o TROmHEEY fuser 3Tee
I foraT TR ST 3 ST TE O 3T8THaT 8 Hehell 21

3. ZBB aead! aitRerfaat o for & & &t ait =i 6t
T T FH ST J&T LT &, Sfeh
g e srete UfdeTiies ger W feftar & ot sAfeen
HTHATITAAT &/ Thell 2

4. ZBB %I WISl 991 Hichei H GHRISH & AN §
a5 foram ST Hepar R, Sefch URUNER SSIT =0T
Sfifered & W UF AT, THA A ATt ATk s
i T 21

ST o T R F fohaa wet €/27

a) Facl Teh

b) FaAal

c) FHared

d) & =)

90) ooy e &t (SEZs) & deyf o, frfaRaa et w
fomm =i
1. YRA o g9 fomy omfdfer &t (Tagsie) it St
A R U W AT g G 0 & forg oft
TS AT T TeAeAAT H Ueh UeT AT T fehalm
T |
2. Wik 3 TSR ST 3AT(eIeF Taperal 1 5756 L §Q
TR H THESIS T A saciehl "3Es" T 1 G
feam

F fow T et  § B | w2/
a) a1
b) HaA2
¢) 13R2aH
d) Jar1mIH2

91) Hiia Suwnfirar gre o (Law of Diminishing Marginal
Utility) = Hster i freferRad shemt w foem i
1. e | Efmiq Swnfr g o e shedr © fh
S-S &G 3 GUd Sedl 8, Tedeh AT 39S
 ITH TqfS w1 St €, Foredr o171 shreeh fEer
H
2. TT ITHRAT FGER % foTC Feeaqol afomm T €,
IE AT T & T SUHIHISAT bl HARrehaw ES o
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2. The committee suggested the renaming of SEZs in India to

"3Es" - referring to Employment and Economic Enclaves.

Which of the above given statements is/are correct?
a) 1 only

b) 2 only
c¢) Both1and2
d) Neither 1 nor 2

91) Consider the following statements with respect to Law of

Diminishing Marginal Utility:

1. The Law of Diminishing Marginal Utility in economics states
that as consumption of good increases, the satisfaction gained
from each additional unit diminishes, holding other factors
constant.

2. It holds important consequences for consumer behavior,
suggesting that consumers should concentrate solely on @

single type of good to achieve maximum satisfaction.

Which of the above given statements is/are correct?
a) 1 only

b) 2 only

¢) Both1and?2

d) Neither 1 nor 2

92) What is the optimal bundle for a consumer in.economics?
a) The bundle with the highest .indifference curve.

b) The bundle that maximizes total expenditure.
¢) The bundle where the budget line intersects the origin.
d) The bundle where the budget line touches an indifference

curve.

93) Consider.the following.statements:

1. For normal goods, the quantity demanded rises as the
consumer's income increases.

2. For inferior goods, the quantity demanded decreases as the
consumer's income increases.

3. Complementary goods experience an increase in demand for

one when the price of the other complementary good rises.

T o ToTT shefel Toh &1 TohIX ol S T &A1 ehisd
AT MY

FL feU T el H @ i "/ w2720
a) Fae 1
b) a2
¢) 13fR2aH
d) Jar1mIH2

92) TIITTE § IYMIHT o fIT 399 siee (optimal bundle) T
2
a) Soddad ISl dsh(indifference curve) Tl
EE|
b) T8 SSE S F A FI HAHAH FLT 2
c) T seet Sl sl W e fofg i shred 2|
d) 9T Sec T8l aSIe T ST a5 i Bt 2l

93) fferfaa semT w femm =i
[ BT AT o6 FoTT, STHITHT ht TR S1g 0 7T
T AT g ST 2
2. HEAT ST o T, STHITHT hl AT oG AT 6
T 1 & ST 2
3. T TESA! hT HIAA S T I FEAT H A H
i T ST BT
4. T ST % ToTu, Wit S1r R o 36l fewm |
ST & SR EATHTI eqaTt i i H g arar
H
YR U U et 8§ fore @t €727
a) FHe Teh
b) A ar
c) EEREIE)
d) a+ft=r

94) fr=ferfaa swemt w fomm =i
1. axft Fuf=T e 3 (identical products) sIHTc
&, o8 wiier foreft oft shoeft & = o TR €
FIIfeh IcdTE SAINY (indistinguishable) B &l
2. e FUoT SAET SIS 1 Ush Held Tl 8, STel
HH ST GlER T HISET STSTR 7o o T foredt
THTE % TR A B
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4. For substitute goods, the demand typically moves in the same

direction as the price changes of the substitute goods.

How many of the above given statements is/are correct?
a) One only

b) Two only
c) Three only
d) All four

94) Consider the following statements:

1. All firms manufacture identical products, allowing buyers to
select from any firm since the products are indistinguishable.

2. Price-taking behavior is a fundamental trait of the market,
where both firms and buyers accept the existing market price
without influence.

3. Free entry and exit is a vital factor in upholding a substantial
number of firms, enabling firms to effortlessly join or exit the

market as needed.

Which market, as discussed in the statements above, is being
described?

a) Perfect Competition
b)
¢) Monopoly Market
d) Oligopoly Market

Monopolistic Competition

95) In the context of price determination, consider'the following
statements:

1. In various,instances,;governments often set an upper limit on
the price of certain goods, known as a price ceiling, to
regulate the market.

2., To ensure the benefitof particular goods and services,
governments enforce minimum prices, creating price floors

for those specific items.

Which of the above’given statements is/are correct?
a) 1 only

b)
¢) Both1and2
d) Neither I nor 2

2 only

3. SISt HEAT H HUAT 1 HEH W 6 [T 3o
o7 A T Ush wEeaqol ki 8, S shu iRl bl
STAPIHATTAR ST & TSR F A T 7 e
frehet T |&T ST 2

S for S feq e sheT § ==t ot 1S 2, fore SITSTR ot aroie fema
NIEGIE S
a) HT?EI’%’F‘W’T (Perfect'Competition)
b) UHITIHRATE gfereaet
Competition)
¢) TSRITESR S (Monopoly Market)
d) TR AR (Oligopoly Market)

(Monopolistic

95) A Frerfeor (price determination) F el o fmfafaa
1. Tafie= Seeton , Tt 3R SN = fafata
T 6 T F& gl i hiAd T T S0 EHH
Trerifca et €, o g T (price ceiling) Xy
H ST ST 2
2. o 3T ST WS ol AT YR A o ferg,
TR =[AH hIFd AT L 8, 37 [T St &
o et e st

T feU T shert H @ I G/ Tt 2727
a) Fad 1
b) a2
¢) 132
d) Far1smId2

96) ST T STRIATSTT T ST (concept of Externalities)
& we H, frforRad et w fomem L
1. oerard snfdes nfafafemt & smuféa afom =
TTTelY & ST S &t shl Jarerd Rt & S e I o
3 mifaferfert o sfier 7=t €
2. THNHE SRIArsl & URUTHEEY  Ereseh
FEIHT T SFATATH IS & Hhell &, e 37k -
SR =TT 3 ST TR SEaeiT 81 EehdT 2|
3. SN ATTAl B SATNE A % AU TEReEs
STEIATST! U ST 7T oL ot TORTI o ot /3o o &9

T ST ST Rl
IYH U U et 8§ for et €/27
a) HIATH
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96) With reference to the concept of Externalities in Economics,
consider the following statements:

1. Externalities denote the unintended consequences of
economic activities that impact parties not directly engaged
in those activities.

2. Positive externalities can result in the insufficient production
of public goods, prompting government intervention due to
their non-excludable character.

3. The tax imposed on negative externalities to internalize the

external costs is known as a Pigouvian Tax.

How many of the above given statements is/are correct?

a) One only
b) Two only
c) All three

d) None

97) What does autonomous consumption refer to in economics?

a) Consumption that is determined solely by disposableincome.
b) Consumption that occurs without any relation te' income.

¢) Consumption that is influenced by changes in interest rates.
d) Consumption that is entirely discretionary. and varies with

preferences.

98) Consider the following statements with respect to the concept of
Paradox of Thrift:
1. The paradox of” thrift, reveals. that increased saving by

individuals can “unexpectedly reduce overall demand,
potentially impeding economic growth.

2. The paradox underscores, the® possibility of government
intervention via fiscal measures, like raising government
spending or implementing tax reductions, to encourage
consumer.spending and elevate aggregate demand.

3. The paradox’ highlights the balance between individual
saving and the need for sustained economic activity to avoid

prolonged recessions.

How many of the above given statements is/are correct?

a) One only
b) Two only
c) All three

b) had al
c) Tftd=
d) s Rl

97) I | R SUNRT (autonomous consumption) T
areadt T 87
a) U9 S Q;{Df TE A YGIST 3T (disposable
income) T ferifia BT 21
b) & ISUHIT I AT & Tt fopeft Tl & 2 2
c) ST ST SAIT <A | e & JTfa i =l
d) T ST O e G forarenTefi & ST srerfireharsti o
EIP ECRIRGIE

98) Tiderrar & farems = (Paradox of Thrift) &t 3T&RoN &
gt 4 Fferfad sweet |/ feem
1. fercreerra o fordremrer & ot <reran € foh safrai g
TGN €3 S AT &9 & GHI HIT T 4
Tk &, o gvnfera w9 @ el fommma snfera &t
TehdT Bl
2. fodrammg ST @< &1 Sieded 3T 3
HT oSG % T Gl @ g AT T kel
AN A S TSRS ITRIT o AT | S
TR ShT EITIHAT <Rl Wi fehd T 2l
3. Toremyme saftRTa s 3R o aH qeh o A s
% foru fiar emfdfes nifafafer i stragesrar & =
HI T TR ST 2
ITE o 7T e 9 fohae wet €27
a) FHe Teh
b) Al
c) Gt d
d) IS el

99) fr=ferfiaa w fomm =t
1. HESHH ER?\['I (Public goods) ﬁ'{—a'%@ﬁf (non-
excludable) &I
2. drEsleh a'{?:lﬁﬁ'(—ﬂﬁﬁ (non-rivalrous)
3. WS aEqe i FTeR i w7 B )
4. 3 et 9 foreht fafame sarfr st e faam s e

SUUE | ¥ fohat i alﬁﬁ (Public Goods) T fergryaTd
8/
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d) None

99) Consider the following:
1. Public goods are non-excludable.

2. Public goods are non-rivalrous.
3. Public goods have clear market prices.

4. Consumption cannot be attributed to a specific person.

How many of the above is/are characteristics of Public Goods?

a) One only
b) Two only
c¢) Three only
d) All four

100) With reference to the Fiat money, consider the following
statements:

1. Fiat money is a form of currency issued by a government,
declared as legal tender for transactions within the country.

2. Fiat money does not possess intrinsic value.

3. Governments have complete control over the “issuance,
supply, and management of fiat money.

4. Fiat money serves as the primary currency. standard for
international trade, exchange, and investment in most'global

economies.

How many of the above given statements is/are correct?

a) °hdd Th
b) A ar
C) FHae
d) aft=ar

100) fuz 7=t (Fiat money) % st &, Frferfad swemi w fomm
Exe

1. Touz #+ STk g0 ST Al T2 73T T U & €,
TS a1 % “fieR e o foTe sl fforaT o &0 o
RPUECRERISSIGIN

2. Touz w1 =7 $Tiafesh 7 (intrinsic value) &1 grdT
2

3. oPUE HHAT ST ShL, SIS Tae o Tk
ot foreton 2rer 21

4. fuz ot Aftenisr At STfeerensti # Faisia
ST, forfmr A faer o fore srerfivss a1 A
% ®Y T 1 AT 2

IO ToQ T g | § fohe w2t 8722

a) el Teh
b) A ar
c) EENEIE)
d) a+ft=r

a) One only
b) Two only
¢) Three only
d) All four
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